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— WEEXH| 50,0003 *x1H x12& 600
Oltlg g 8x 24,800
—-JI=23 1,213,500& x1H ~12& 14,562
—J| 2 14,562,000 x4/ 12& 4,854
— X E 6,460& *8A| 2F*10L 517
— A2t 224E 6,460 x25A1 2tx1.5x12& 2,907
— g4l 80,000& *1E x12& 960
— 9 E S| 200,000 x 1 23| 400
— WEEXH| 50,000& x1H x12& 600
I2AE (HEUNSSANRL)(DENSS L) 108,860 105,871 2,989
J2ZH(NSIAEEANRD) 108,860 105,871 2,989
201 et | 72,361 60,961 11,400
01 At 22l ] 51,440 42 172 9,268




2N HEISEARL
H: HH2IAH(NSUHEEARL)
el JI2ZH(NSUHSSEMRA)(DEMASESIH) (&)
SA - FE - BI(EA) - NRAY - By 0l &t San DS
Oget=EH| 45,392
—HE JlEe NRES 100,000 =18 1,800
—SAISAB(EULEY P S)
480,000 *3CH x4 2 5,760
—SAESX7Y 20,0003 =128t A+ 123 2,880
—Zeiy ¥ A ARS 2Y
400,000& ~ 183 7,200
—QE) ARE FYU(BE EX,23)
910,000 »2A! 1,820
- NSUHEEZ EXN MHE S(228)
60,000 x16 122 11,520
— M3l AsSX 2 AR MA
1,000& «65 =1, 0000H 6,000
— A& EEAN HEE I0EE PY
350,000& 13| 350
—=BUIIE X 2 95,0003 *102f A 950
—JAHSHEH HH 2 P2 3,000& *200 0K 600
—d@=2=J] 2l 56,0003 12 672
~NSASSMDL 2SS FY(ZSH =
£ S78) 150,000& =122 1,800
— Ro0ZFH =2 130,000 =122 1,560
—HSUIIE JIAH & ANESEEHS AL
8 ZXZH |FAE=H 200, 000& *52] 1,000
— 2UANBIA ABIE L8 242
369,998,000 *20%*2. 0% 1,480
O3l 6.048
-~ NENS=YL 27 S2 HAY)
7,000 «18H 42 «12& 6,048
02 =224l 20,921 18,789 2,132
O 3322 % HMA 12,164
— MRS = 50,000& »23] 100
HSALE = 80,000 «1CH 12 960
—dIIMNEBE 750,000 122 9,000
— &5t AIEZ 70,000& 128 840
—NSUHSEANRA UIAMY WEEES
700,000& * 12l 700
— QI MEZ QY &z 30,000&x122 360
— TVl E 17,0003 »1CH~12& 204
OAl £ EHI S X H 8,757
—d== X4l 751m %7, 000& 5,257
— CCTV | X E==Hl 500, 000& 7 CH 3,500
202 044l 36,149 36,126 23
01 SLHOYI 36,149 36,126 23
OXNSXUSELEF =& 2LLHAHHI
20,0003 «18H «83| «12& 34,560
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2N HEHXSSARAL
H: HH2IAH(NSUHEEARL)
@ JI2dH(NSUHSEARL)(RSMLSESH) (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
O&&X At =UHEH Y
264,800 x3H »23] 1,589
405 RHoHF S HI 350 8,784 N 8,434
01 AL EZFH S 350 8,784 A 8,434
omAlZe + 350,000 104 350




